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[ 4362.576991] 2.1: new high-speed USB device number 5 using xhci hcd

[ ] : New USB device found, idVendor=098f, idProduct=2205

] : New USB device strings: Mfr=1, Product=2, SerialNumber=3

] ust I: Product: DCS-11048B

] I: Manufacturer: TEXIO

] : SerialNumber: GJP180497

] 2.0: This device cannot do calls on its own. It is not a modem

] C 2.0: ttvACMO: USB ACM device
] : registered ney erface driver cdc acm
381859] : USB Abstract Con | Model driver for USB modems and ISDN adapters
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LAN / RS-232C / USB-CDC 4> 7L 704 S5 L

TEXIO

# coding:utf-8

import serial # pyserial EZa—JL
import socket # socket E¥a1—IL
from time import sleep

# LAN HEE

def main_LANQ) :
ipAddr = “192.168. 1. 100" # IPvA 7 FLRIEE
ports = 1026 # Socket "— ~ERE

try:
s=socket. socket (socket. AF_INET, socket. SOCK_STREAM)
s. connect ((ipAddr, ports))

s. send (“xidn?¥n”. encode (“utf-8"))

sleep (0. 1)

txtRov = s. recv (256)

print (' IDN: ' + txtRcv. decode (' ascii’))

s.close()

except:
print (" Socket Error:’ + ipAddr + '::" + str(ports))

# RS-232C/USB-CDC FAE
def main_COM() :

ports="COM10’ # Windows TOHE5EH : COM10
#ports="/dev/ttys0’ # Linux &2 T® RS-232C 55 : ttys0
#ports="/dev/ttyUSBO’ # Linux & T® USB-CDC #55E : ttyUSBO
try:

ser = serial.Serial ()

ser.port = ports # R—rIEE

ser. baudrate =" 115200’ t R—L—MEE

ser. timeout = 0.5 t A4 LT MEE

ser. open ()

ser.write(“*idn?¥n”. encode ("utf-8"))

sleep (0. 1)

txtRov = ser. read(256)
print C IDN: * + txtRev. decode (" ascii’))

ser.close()

except:
print ( COM Port Error: ' + ports )

B A4 VB

if _name__ =="_main_:

t ELEohEIAVRTORLET,
main_LAN ()
#main_COM()
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VISA 47 )L T045 5 L6
# coding:utf-8
import visa #t pyVISA EDa—IL

from time import sleep

def main_VISA(Q):

# LAN Socket

# ipAddr = " 172.22. 44. 208’ # IPvd 7 FLRIERE

#  ports = '5025 # Socket R— FERE

# visaAddr = 'TCPIPO::" + ipAddr + ' ::" + ports + ::SOCKET'
#  LXI

# visaAddr = "TCPIPO::" + ipAddr + ' ::inst0::INSTR

#  USBTMC

# USBVid = " 0x098F’ # VenderID

# USBPid = ' 0x0127° # ProductID

# USBSN = " 15050232 # Serial Number

# visaAddr = "USBO::" + USBVid + "::" + USBPid + "::" + USBSN + " ::INSTR’
# GP-IB

# GPAddr = '8’ # GP-IB Address

# visaAddr = 'GPIB::" + GPAddr

¥ TRARERREL-ERRLET
try:
rm = visa. ResourceManager ()
instruments = rm. list_resources (' 7*")
if len(instruments) > 0:
print ('Device List’)
for num, device in enumerate (instruments) :
print(f" {num}: {device}')

#BRENI=-TNA REBEZITVET
num = int (input (' ¥nSelect Device ? "))
ass = len(instruments)
if (num < len(instruments)) :
visaAddr = instruments[num]
instr = rm. open_resource (visaAddr)
if instr.resource_name. startswith (" ASRL') or instr. resource_name. endswith (" SOCKET") :
instr. read_termination = ' ¥n’
instr.write_termination = "¥n’'
instr.write(' *idn?")
print(instr.read())
sleep(0.1)
instr.close()
else:
print('No Device!")
else:
print ('No Device!’)

# Error n3#
except:
print (' Device Error’)

#F TNRAREDBEERTLET,
rm. close ()
if _name__ =="__main__":

main_VISA()
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PSF / PS-A/PDS-A/ LSA 3')—X A API:IF-60.dll D7 2+ Z %l

# coding:utf-8

import ctypes

import sys

from time import sleep

def main():

is6dbit = sys.maxsize > 2 *x 32
if is6dbit:

tmi_api = ctypes.windl|.LoadLibrary (' c:¥windows¥system32¥IF_60.dII")

else:

tmi_api = ctypes.windl|. LoadLibrary (' c:¥windows¥SysWOW64¥IF_60.dI1")

c_open = tmi_api.USB488_DeviceOpen
c_open. argtypes = [ctypes. c_int]
c_open. restype = ctypes. c_int

c_close = tmi_api. USB488_DeviceClose
c_close. argtypes = [ctypes. c_int]
c_close. restype = ctypes.c_int

c_send = tmi_api. USB488_Send
c_send. argtypes = [ctypes. c_int, ctypes. c_char_p]

c_send. restype = ctypes. c_int

c_Receive = tmi_api.USB488_Receive

c_Receive. argtypes = [ctypes.c_int, ctypes.c_int, ctypes. c_char_p]

c_Receive. restype = ctypes. c_int

PC_ADDR = ctypes.c_int(1)
c_handle = c_open (PG_ADDR)

if c_handle > 0:

c_send (PC_ADDR , (ctypes.c_char_p (“xidn?¥n”. encode (“utf-8"))))

txtRev = ctypes. create_string_buffer (255)
¢_Receive (PC_ADDR , ctypes.c_int(256) , txtRcv)
c_close (PG_ADDR)

print (txtRecv. value. decode (" ascii’))

if _name__ =="__main__":
main()
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PW-A/PAR-A 2!1)—XF3 API: TMI_APLdIl D7 Y& R4l

# coding:utf-8

import ctypes

import sys

from time import sleep

def main():
is64bit = sys.maxsize > 2 *x 32
if is64bit:
tmi_api = ctypes.windl|. LoadLibrary (' c:¥windows¥system32¥TMI_API.dII")
else:

tmi_api = ctypes.windl|.LoadLibrary (' c:¥windows¥SysWOW64¥TMI_API. dl1")

c_open = tmi_api. TMI_HandleOpen
c_open. argtypes = [ctypes. c_char_p, ctypes.c_char_p]
c_open. restype = ctypes. c_int

c_close = tmi_api. TMI_HandleClose
c_close. argtypes = [ctypes. c_int]
c_close. restype = ctypes.c_int

c_mainout = tmi_api. TMI_MainOutput
c_mainout. argtypes = [ctypes. c_int, ctypes. ¢_char]
c_mainout. restype = ctypes.c_int

c_out = tmi_api. TMI_Out
c_out. argtypes = [ctypes. c_int, ctypes. ¢_char_p]
c_out. restype = ctypes.c_int

c_in = tmi_api. TMI_In
c_in. argtypes = [ctypes. c_int, ctypes. ¢c_char_p]
c_in. restype = ctypes.c_int

c_voltage = tmi_api.TMI_Voltage
c_voltage. argtypes = [ctypes. c_int, ctypes. c_char, ctypes. ¢_char, ctypes. ¢c_double]
c_voltage. restype = ctypes.c_int
c_current = tmi_api. TMI_Current
c_current. argtypes = [ctypes. c_int, ctypes. c_char, ctypes. c_char, ctypes. c_double]
c_current. restype = ctypes. c_int

c_mondata = tmi_api. TMI_MoniDataQ
c_mondata. argtypes = [ctypes. c_int, ctypes. c_char, ctypes. c_void_p, ctypes. c_void_p, ctypes. c_void_p]
c_mondata. restype = ctypes. c_int

c_str = ctypes. create_string_buffer (256)

¢_handle = ¢_open ((ctypes. c_char_p ("PW-A". encode (“utf-8"))), (ctypes.c_char_p (“USB:1:1”. encode (“utf-8))) )
if c_handle > 0:

c_out (c_handle, (ctypes. c_char_p (“"SW1¥n”. encode (“utf-8))))

sleep (0. 5)

c_out (c_handle, (ctypes. c_char_p (“SWO0¥n”. encode (“utf-8))))

c_out (c_handle, (ctypes. c_char_p (“*idn?¥n”. encode ("utf-87))))

c_in(c_handle, c_str)

print (c_str. value. decode ("ascii’) )

c_close (c_handle)

if _name__ =="_main_":
main ()
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# coding:utf-8

import ctypes

import sys

from time import sleep

def main():
is6dbit = sys.maxsize > 2 *x 32
if is64bit:
tmi_api = ctypes.windl|.LoadLibrary (' c:¥windows¥system32¥IF_50.dII")
else:

tmi_api = ctypes.windl|.LoadLibrary (' ¢c:¥windows¥SysWOW64¥IF_50.dI1")

c_open = tmi_api.LW_DeviceOpen
c_open. argtypes = [ctypes.c_int, ctypes.c_int, ctypes.c_int, ctypes.c_int]
c_open. restype = ctypes. c_int

c_close = tmi_api.LW_DeviceClose
c_close. argtypes = [ctypes. c_int]
c_close. restype = ctypes.c_int

c_mainout = tmi_api.LW_SetMainInput
c_mainout. argtypes = [ctypes. c_int, ctypes.c_char]
c_mainout. restype = ctypes. c_int

c_monitor = tmi_api.LW_GetMonitor
c_monitor. argtypes = [ctypes.c_int, ctypes.c_int, ctypes.c_void_p]
c_monitor. restype = ctypes. c_int

class _mon_data (ctypes. Structure) :
_fields_ = [(“curr”, ctypes. c_double), (“volt”, ctypes. c_double), (“pow”, ctypes. c_double)]

monitor_data = _mon_data(0.0,0.0,0.0)

c_handle = c_open(2, 0, 1, 1)
if c_handle > 0:
c_mainout (c_handle, 1)
sleep (0. 5)
c_monitor (c_handle, ctypes.c_int(1), ctypes.byref (monitor_data))
c_mainout (c_handle, 0)
c_close(c_handle)
print ("Monitor:%f[V], %f[Al, %f[W]” % (monitor_data.volt, monitor_data.curr ,monitor_data.pow) )

if _name__ =="__main__":
main()
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NI-VISA Sample Version3 for VBA

Interface | COM | Find ‘ Open ‘ Exit ‘
Device List | ASRL1EINSTR
GOM bps.Bit | 115200,8

*idn?

[ e | |
Receive | |

ExcelVBA 01k R fl
# pyVisa Sample - O
Device List : | v| Find | Exit
Serial Baud : Open Close

“idn? |

Send

Recive

Python/Tkinter T GUI YE X4l

Python TOEEDERHELTIE. K2V 6 E. FOYTE IR THRAMRYI X 3@, TRV 2 BELE>TLET,

FEEMGA2—/NILTOHEIRYAATHYET,

# coding:utf-8

import visa #VISAESa2—L
import tkinter as tk #tk ED2—L
import time

from time import sleep
from tkinter import ttk

rm = visa. ResourceManager () #rm & instr 25 0—N\JLELTESE
instr = None

def Find_clicked():
try:
t TN REREL—ERRLET
cbDevList[ values' 1=[""1]

instruments = rm. | ist_resources (' 7%")
if len(instruments) > 0:
cbDevList[' values’ ]=instruments
cbDevList. current (0) # Error AL3g
btn3[ state’ ] = tk. NORMAL
except:
print('Device Error’)

def Exit_clicked():

rm. close () # TINAREDBIEERTLET,
root. destroy ()
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def

Open_clicked() :
global instr
visaAddr = cbDevList. get ()
if( visaAddr == """ ):
print (' No Device!’)
else:
try:
instr = rm. open_resource (visaAddr)
if instr.resource_name. startswith(' ASRL’):
instr. read_termination = '¥n’
instr.write_termination = " ¥n
instr. baud_rate = int (txtOption. get())

if instr. resource_name. endswith (" SOCKET’ ) :
instr. read_termination = " ¥n’
instr.write_termination = ' ¥n

btn2[ state’]
btn3[ state’] = tk. DISABLED
btn4[ state’] = tk. NORMAL
btn5[  state’ ] = tk. NORMAL
btn6[’ state’ ] = tk. NORMAL

txtRecive.delete (' 1.0, tk. END)
txtRecive. insert (tk.END,’ Device Opened!’)

# Error 038

def

def

def

except:
txtRecive. delete (" 1.0, tk. END)
txtRecive. insert (tk.END,’ Device Open Error!’)

cmb_Sel (event) :
txtOption. delete (0, tk. END)
cbuff = cbDevList. get ()
if CASRL’ in cbuff):
txtOption[ state’ ] = tk. NORMAL
txtOption. insert (tk. END, ' 115200")
else:
txtOption[ state’] = tk.DISABLED

Close_clicked():
global instr

btn2[" state’ ] = tk. NORMAL # OPEN/EXIT & %h. CLOSE/Send/Recive Z 1k

btn3[' state’ ] = tk. NORMAL

btn4[’ state’ ] = tk. DISABLED
btn5[' state’ ] = tk. DISABLED
btn6[ state’] = tk. DISABLED

instr.close ()

Send_clicked() :
global instr

cbuff = txtSend. get ()
instr. write (cbuff)
txtRecive. delete (" 1.0", tk. END)
if (? in cbuff) :
txtRecive. insert (tk.END, instr.read())

tk. DISABLED # OPEN/EXIT .k, CLOSE/Send/Recive Hxh
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def Recive_clicked():
global instr

txtRecive. delete (' 1.0", tk. END)
txtRecive. insert (tk.END, instr.read())

def interval_work(): # A4V —/NLTITS NEZE R
root. title( pyVisa Sample ' + time.ctime()) # ZZTIEEBRIER2 A MILIZERT
root. after (1000, interval_work) # 423 —N)LDOEER (ms) 2187

P HEELGHNIES V2 —/NILIEFRT

root = tk. Tk
root. geometry (' 530x160")
root.title( pyVisa Sample’)

label1 = tk.Label (root, text = 'Device List : )
label1. grid(row=0, column=0)

label2 = tk.Label (root, text = 'Serial Baud :" )
|label2. grid(row=1, column=0)

cbDevList= ttk. Combobox (root , width=50 )
cbDevList. grid(row=0 , column=1)
cbDevList. bind (' <<ComboboxSelected>>" , cmb_Sel)

txtOption = ttk.Entry(root , width=50 , state =tk. DISABLED )
txtOption. grid(row=1 , column=1)

txtSend = ttk.Entry(root , width=50 )

txtSend. grid(row=2 , column=1)

txtSend. insert (tk. END, ' *idn?")

txtRecive = tk.Text(root , width=42, height=5 )
txtRecive. grid(row=3 , column=1)

btn1 = tk. Button(master=root, text=" Find ' , command=Find_clicked)

btnl. grid(row = 0 , column=2)

btn2 = tk.Button(master=root, text=" Exit ' , command=Exit_clicked)

btn2. grid(row = 0 , column=3)

btn3 = tk. Button(master=root, text=" Open '’ , command=0pen_c | icked, state =tk. DISABLED )
btn3. grid(row = 1 , column=2)

btn4 = tk. Button(master=root, text=" Close ’ , command=Close_clicked, state =tk.DISABLED )
btnd. grid(row = 1 , column=3)

btn5 = tk. Button(master=root, text=" Send ' , command=Send_clicked, state =tk. DISABLED )
btn5. grid(row = 2 , column=0)

btn6 = tk. Button(master=root, text=" Recive ' , command=Recive_clicked, state =tk.DISABLED )

btn6. grid(row = 3 , column=0)
interval_work () A 2 —NILBVMEERIRT 5 & EIZEST

root.mainloop ()
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